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Fourth semester B.E. Degree Examination, June/July 2023

Mathematical Foundations for Gomputing, Probability and
Statistics

'[-irre: 3 hrs Max. Marl<s: 100

ly-ote: Answer any FIVE Jull questions, choosing ONE.fhll question from euch tnodule.

Module-l
a. Defi6e tautology. Determine w,hether the followrng colxpound statement is a tautology

or not: l(p v q) --+ r) <+ {-r -_> -(p v q)} (06 Marks)

b. f)ctcrntine u,hethcr the lbllowing argument is r.alid or rlot : (07 Marks)

No engtneering stLtclent of I & [l setltcstcr slLrdics logic

An rl is an engi neering studenl wlrc sttrdies logic

.. Arrilis not in ll semester.
Cive flirectproof and proof by contradiction for the statement "lf rr is an odd integer then

n + 9 is an even integer." (07 Marks)

OR
Prove that the argument given below is a valid argument:

p-+(q-+r)
-'q-r-p

p

.,. l

tr. Provcthat [-p"(-q^r)]v[(qnr)v(p,rr)]<+r byusLnglau'sollogic. (07Nlarks)

c. Ciive a cll'ect proof for each of the following, For all integers K and l, if f and I are both

even, then (i) K + I is even (ii) Kn is even (07 Marks)

Module-2

3 a, C.onsrdcr 1', R. > I{ clefincci b1' Iix) :2x + -5 ancl g

Pruve that g is an inversc ol l. (06 Nlalks)

b. Let A: I1.2.3,4, (rl arrd I?. be a relalion on A dellned by aRb il'and only i{-"a rs a rnr-ritiplc

of b^'. Write down the relation R. relation nratrix M(R)and clraw its diagram. (07 NIarks)

c. Deflne: (i) Simple graph (ii) Complete graph (iii) Subgraph (iv) Spanning strbgroup
(07 Marl<s)

a.

OR
Let f and g be functions flom R to R defined by f(x): ax + b and g(r): 1 - x'\-'
ii(gofl(x)-.9x:-9x+ 3.clelemineaandb. (06N1arks)

I_cr A - i1.2.3,4).R = {(1,3), (1, 1). (3, 1), (1.2). (3.3), (1, 1)i bc a relation ou A

Dctcrminc rvhcther thc rclatiorr R is rcflcctirc. s,vmmctnc. antt-sytrlnetric or ttausitric.

I{cnce verifl'R is an equivaience relattoll or not. (07 \'larks)

R + R clcfinccl b1,' g(r)- |t.-,i

b

lof 3
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2I MATCS4l

C Deflne isornorphisn-r o1'graph. Frnd whether the fbllowing graphs are isonrorphic or not,
u\ L\L v(

't Vc

tlu
F-ig.Qa(c) (07 Marks)

Module-3
5 a. Fit a second degree parabola j,=a+bx+cx' rn the least square sense lbr the lbllou'ing

data:

x 0 1 2 3 4

v I 1.8 t.3 2.5 ,L.-)

b. Obtain the lines o1're

(06 Marks)
sion and hence find the coelflcient of'correlation Ibr the dala

(07 Marks)
The Ibllowing are the percentage olmarl<s in matnx (x) and statistics (y) oininc sludents

C'alculate the rank corelation coelficient.
X 3B 50 42 6l ,1

+.') 55 67 46 12

41 64 ltJ 15 /A++ -s5 62 56 60
(()7 Marks)

u\\s
\L( y'r

c

6 a. Fit a least uare
OR

ometlic curve v : axn lbr the data:
X

106 Marks;

b. Giventheequationoftheregressionlines x=19.13-0.874,y=11.64-0.-sx.Compntethe
mean ofx, y and the coefficient oflcorrelation. (07 Marks)

c. Three.juciges A, B, C, gir,'e the follou,rng ranhs. Find rvhich pair of judges has cot'ntnon

ach

(07 N,larks)

Module-4
'7 a. A randonr variable r has the fbllowing probability distribution

x 0 I 2 3 4 5 6 1

P(r) 0 K 2K 3K 3K K, 2K' 7K/t-K

ti) Find K (ii) Find P(x < 6) P(x > 6) and P(3 < x < 6)

b. Derive the rnean and standard deviation of binornjal drstribution
(06 Marks)
(07 Marks)

X I 2 a
J 4 -5 6 1

v 9 8 l0 t2 ll l3 t1

l 2 3 1 5

v 0.5 2 4.5 B t2.5

A l 6 5 10 J 2 4 9 1 8

B 3 5 8 4 7 i 6 L)

C 6 4 9 8 I 2 3 t0 5 1

2of3
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2I MATCS4l

C Irra lesl orr crh_-crtric bLrlbs. i1 u,as lbrrnci llral thc lil-c trrne ol'a irarticular irrantl uas dislribulcd
nornrallv with an avcragc iil.: o12000 hours ancl S[) o1'60 lrours. ll'a llrnt purcirascs 2-5()()

brrlbs. finri thc lutnbet-of bLrlbs that are likely to last lbr (i) nrorc than ll00 hor-rrs
(ri) less than 1950 houls (iii) betu,ccn I900 to 2100 hours A(1.67) . 0.+,\1.i.
A(0.83) - 0.21)61 " A( 1.67 ) - 0.4525. (07 \tarhs)

OR
In a quiz contest ol'answering'Yes'or'No', what is thc probability of guessrng atleast 6

answers corrcctlv out of lC questions asked? A1so find the probability of the same if there
are 4 options for a correct ans\\,'er'i (06 Mart<s)

The numbcro{'acciclcnts in a year to taxi drivcrs in acitv lbl1ows n [)oisson drstribution with
nrcan 3. Or.rt ol' l 000 taxi drivcrs fi nrl approxirnately thc numbcl of thc rldvcrs u ith :

8a.

10

L.)

(i)no accident (07 Marks)
c. [n a nonlral dis the itcnrs arc o\,cr 6.tr Ijrncl

the rnean and S .4192 (07 Marks)

9 a. The joint di

firllows the fre d as bclow :

-[est 
thc hypothcsis that thc ciata fbllows a buromialdistribution. (tr, ,, l].07 tbr 5 d t.)

(07 Nlarks)
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l'(urnber of'drce shor.ving I , 2 or 3 -5 4 3 2 I 0

Ficqucncy 7 1q 35 t1 u -)

3 o{'3

-----..,,,...,,,f%

Find: E(X), L.(Y)and [(XY) (ii) cov(X, Y) (iii) p(X, Y) (06 Ntarrrs)

b. A die is thrown 9000 tin'ies and a throw of 3 or 4 was observed 3240 tirnes. Show that the
die ciurnot bc regarded as an unbiased one. (07 Nlarks)

c. A cerlain stimrrlux administered to each of the 12 patrents resulted in the fbllorving changes
trf blood prc:isllrc. ,5.2, 8. -1, 3.0, 6,*2. |,.5. 0.4. Can it bc concludcd that the stimulus riill
rncrease ihe biood pressure. (togs = 2.201 for I I d.l) (07 Nlartis)
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Fourth Semester B.E. Degree Ex*mination, June/July 2023
Gomplex Analysis, Probability and Statistical Methods

Time: 3 hrs. Max: Marks: 100

Note: 1. Answer any FIYE Jiill questions, choosing ONE full questi.on J'rom each module.
2. IJse of Statistical table is permittecl.

Module-1
1 a. Derive Cauchy - Riemann eqnatiotts in Cartesian form.

b. Shorv that f(z): sin z is analytic ancl hence find its derivatilc.
(l:l)

c. EvalLrate f tzrnx';clr+(3y-x)cly . alongtlreparabola x:2t,y: tr l' 3

.'

(06 l\Earks)
(07 Ntarks)

(07 Marks)

(0,3)

b

C

OR
Detemine the analytic fltr-rction f(z) : Lr * ir' , u,hose imaginary part is

x(x' - y') + -,-= by Milne - Thompsorr rnethod.
x- + y-

State and proi,e Cauchy's integral theonn.
,dz

Errlrrate I =' over c :lz : 
Ir 7.- -+

Module-2

Show tl'rzrt .1.,..(x) =
t;
lL

ln^
cos x

s1l-I x

b. Ilct and B are the two roots of J,,(x) - 0 then pr-ove that x J,,(crx)J,(px)dx = 0 if cr * 0

Erpress f(x): 2xr - *l - 3x + 2 in terms of Lcgendre polynomials

OR
4 a. Obtain the series solution of Bessel's djff'ercntial eqr-ration xly" * xy' -1- (x2 + n2)y - 0

C

lcadrng to J,,(x).

b. Shorv that { LJ*1 =
f)l'

!n*
c. Provc that ,

Module-3
5 a. Find the Karl Pearson's coelllcient corclation tbr the lollor,ving two groups

A 92 89 81 86 6-) 11 1l 63 53 50

B 86 6J 91 11 68 85 )l -)/ 51

x-' + 2x' * 4x + s : ? p. 
t xt + 1 p, 1*,t -l I P (x) + Y a,,(, I5 3 5 5'

1 of 3

(06 Marks)
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b. Fit a line of the fonn : ax * b for the data by the least squares tnethod

(07 Marks)

c. Usir-r the rletliod of least fit a curye y : axlr for the data

(07 Marks)

OR
6 a. Ten stuc'lents got the percerrtage of marks in two sirbjects x and y. Cornpute tl-reir rank

corre lation coeffi ci ent.

l\4arks in x 78 36 98 IJ 75 82 9t) 62 6s 39

Marts irr i, 84 51 9l 60 68 62 B6 58 53 31
(07 Marks)

b Compute the rneans ; . t and the coefflcient of conelatiou r fi'om the given rcgrcssiott

lines2x+3y+ l=0,x+6y-4:0. (O7Marks)

F it a seconcl degree parabola y : ax2 + bx + c in the least square sense fot' the lbllowjng data

and hence estimate atx:6

(06 Marks)

Modulc-4
7 a. A ranCorn variable X has the lollo abili function

Frnd li and evaluate P(X>6),P(3.X<6) (06 Marks)

b. Find the mean and stanc'lard deviation of Poisson distribr-rtion. (07 Nlarks)

c. The probability that aperson aged 60 years rvill live upto 70 is 0.65. What rs the probabilit-v

that out of 10 persons aged 60 atleast 7 oftl-rem wrll live uplo 70'? (07 [\4arks)

C

OR
8 a. Find a coltstant K st-rch that

fk*t. o(x.3l'(r) l"' isapdfi
[0 olhet'tvt:c

Also. comprlte : (i) P(1 < x < 2) (ii) P(r < i) (iii) P(r > l)
b. F ind the lnean and staneiarcl deviaticn of Binor-nial distribution.
c. In a test of electric l-.Lrlbs rt was founci that the lrfetlme of bLrlbs of a particular

nonrally distrrbuted n,ith an a\lerage lifb of 2000 hours and standard deviation'o

Ila I-rn"t.r lturchases 25G0 t,ulbs. find tire runrber of bnlbs that are likely to last fbr

tit \4trrc tirutr 2 l0(t lrt;ttrr
r ir ) I css tilrrrr I050 ltoLt t's

(iri) Betl,cen 1900 arlj 2l;lt) lroLrrs

Cive n lirat, $(1 .61):0.4525 ; $(0.E3) - 0.2967

2 of 3

(06 I\{a rks)

(il7 Marks)
b;,and rvas

f i;0 hor"rrs.

',,i
.ril'l
,:.,

l

(07 Marks)

t

1 2 4 5x
0.5 2 4.5 8 12.5v

5x I 2 3 4

13 16 i9i0 12

14 5 60 I 2X
7k-+ lt2k 3l( 1(' 2k)P(X) 0 k 2k

3
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Module-5
9 a. The joint probability distribution of the random variables X Y are given as follows

Finci (i) E,(X) (ii) E(Y) tl i) E(XY) (iv) Cov(X, Y)
(v) Marginal distribution of X and Y (06 Marks)

b. Define (i) Null hypothesis (ii) Type-l and Type-11 error (iii) Level of Signrficance
(07 Marks)

c. A sarnple of 100 lyres is taken frorn a lot. TlTe nrean life of tyres is found to be 40,650 kms

ri,ith a standiird deviation of 3260. Can it bc considered as a trtte randonr san-tple fi'om a

poptrlation with mean life o1'40,000 krns (use 0.05 levelof signrficance). (Given zoos- 1.96,

zoor :2.58) (07 Marks)

OR
10 a. The ioint probabrlrty distribirtion of two random variables X and Y are as follows

Detemrine : (i) Marginal tribr-rtion of X and Y (ii) Find E(X), E(Y) and E(XY)
(iii) Covariance olX and Y (06 Marks)

of seeds were obtained.b. In the of bree the follow r

Theory prerjicts that the fi-eqLte r-rcies should be in proportions 9:3 :3: 1 Examine the

con-espondence betweelt theory ancl experinlent. (Given Xi,,, - 7.81 5 fbr 3df). (07 Marks)

A groLrp of l0 boys fed on a diet A and another gror-rp of 8 boys lecl on a ditlbrcnt diet B lbr

a period of 6 months recorded the fo11 increase in we ight (lbs)

Test whetl-rcr diets A and B dilTer significantly re gardir-rg their eflect on increase in weight.

iCirerr 1,,,,5 lb| I6dl:2.12) (07 Marks)

C

:i
j, ':

Y
x 3 9I

I

24 12

I
2

I

B

I

4

1

4
04

1

B

I
1A t2

1

6

Y
4 5_1 I

0 0.3i 0.1 0.2

0.1 0.1 02 0.2

Rourtded
Green

Wrinkled
and Green

TotalRound and
Yellor,v

Wrinl<led and

Yellow
108 -)z s56315 101

4 -l 9 6 t0Diet A 5 6 B I 12

1 2 8 5 5Diel B 2 3 6 B 10
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Fourth Semester B.E. Deg
Design & Ana

Time: 3 hrs.

Note: Answer any FIVE full questions,

I a. Explain the algorithm design
b. Explain the asymptotic

,,

example.
detail, '

.rl

.

(10 Marks)
(10 Marks)

(10 Marks)

= 4, m: 10, p : {40,42,
(10 Marks)

for the given graph by
(10 Marks)

a.

b.

a.

b.

a.

b

process ln

2--

Fie. Qs (b)

,,

s
a-

\

Max. Marks: 100

2tcs42

Module-2
Explain the concept of Divide and Conquer. Write the recursive algorithm to perform Binary
search on the list of elenrents. (10 Marks)

Apply Quick sort algorithm to sort the list of characters : P, R, O, G, R, A, M, M, I, N, G.

Draw the tree of recursive calls made while tracing. (10 Marks)

Fie Qa (b)

2-
I

\



6 a. Construct a Huffinan Tree and
OR
code word for the

L

2tcs42

u1g:

11001010. (10 Marks)

tree ofa given connected graph
(10 Marks)

(10 Marks)

Encode the text ABACABAD and Decode the text 1

b. Write a C+*lJava program to find minimum
using Kruskal's algorithm. Use Union-Find m your program.

7 a. Find a minimum-cost

\

b. Write Floyd's and apply the

\

10 a. Explain the following les

trace the following graph.

-, i;i"

al$orithm
Fig Q7

8

9

4

(ii) NP problems
(iv) NP-Hard problems (10 Marks)

to find all Hamiltonian cycles in a connected

tracking principle. (10 Marks)

(i) P problems
( iii) N P-complere

b Dcsign and implement
undirected graph G of n

OR

problems
C++/Java program
vertices using back

***(**

C DCharacter A B
0.1s0.4 0.1 0.2 0. 15Probability

Job 1 Job 2 Job 3 Job 4

9 2 7 8Person a

6 4 fJ 7Person b

85 8 1Person c

4Person d 7 6 9

2 of2

Module-4
from S to T in the given mr.rltistage graph.

\

\

same
k

9-

a-
t

Fig QT (b) (10 Marks)

OR
a. Write l{orspool's algorithm for string matching. Find the pattern BARBER. In the text :

JIM SAW Mtl iN A BARBERSHOP. (10 Marks)

b. WriG a C++7.16uu prugru* to solve 0/l knapsack problem using Dynamic programming

mcthod. (lo ]larks)

Module-5
a. Diffbrentiate between Back tracking and Branch and Bound technique. Apply back tracking

to solve the lollowing instance of the subset-sum problem: S: {1,2,3,6,8}, d:9.
(10 Marks)

b. Solve the fbllowing branch and bound method. (10 Marks)
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Module-5
9 a. Erplain multi threading.

b. Explain the concept of dcac'llock with a ne at diagram

c. Write u notc ()n mcssagc passrng.

OR

(06 Marks)
(04 Marl<s)
(10 Marks)

and rnulti-tasl<ing. (lo Marks)

Developnrent Environment (IDE) for Ernbedded Software
(10 Marks)

a. Write a note on ntr:ltiprrtcessing

b. I}plairr the role of Iritegrated
Developnrent"

t0

GBG$$GHEIME

USN 2lcs43

Fourth Semester B.E. Degree Examination,.IunelJuly 2023

Microcontroller and Embedded Systems

ll-ime: 3 hrs. Max. Marks: 100

Note: Answcr anJ' FIVE ffull questitttrs, cltoosing ONE Jfull questiort from euclt module.

Module-l
1 a. Mention the differences between:

(i) Microprocessor and Microcontrollers (ii) CISC and RISC (10 Marks)

b. With a ncat diagram, cxplain embedded system hardrvare. (10 Marks)

OR
2 a. Explain in detail about Cunent Program Status Register (CPSR). (10 Marks)

b. With a ncat diagmln, cxplain enibedded system soltrvare. (10 Marks)

Module-2
3 a. Explain different branch instruction in ARM processor. (10 Marks)

b. Discuss diflbrent types of acldressing modes fcrr load store tnultiple instructions with
(10 Nllarks)crunrp lc.

OR
I a. Explain single register load store addressing mode syrtax, table, index mode with an

example. (10 Marks)

b. Discuss SWAP instruction with an example. (10 Marks)

Module-3
5 a. Write a C prrlgram that prints tlre square of the intcgers between 0 to 9 using functions ancl

explain how to conveft this C fLrnction to an assernbly function with command. (10 Marl<s)

b. Discuss how instruction is scheduled in ARM. (10 N{arks)

OR
6 a. Explain codc optirnization, profiling and cycle courrting. (10 Marks)

b. Disclrss how Registcrs are alloceted to optin-rize the program. (10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)
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ultithreaded pro gramming.

21C544

(06 Marks)

) and priority

(08 Marks)

(12 Marks)
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Fourth Semester B.E. Degree E

3 a. 'What is Itithreaded four

b" Consider the set of pro Arrival time,
shown below (Lower represents

time (in

Average iting time and Average turnaround time for

) ii) Scheduling (Preemptive).
irne fbr rithms) (14 Marks)

r; 1'11'1,'' 
'

I i"'' rllr ' '

Write the Gantt
r) SJF

otorr

chart
Scheduling
. Consider

4 a. Explain

b. What is

r)

OR
Multithreading models

How do you implement

ii) Multilevel queue scheduling

- Section?
philosophers problem?

a monitor solution to the dining -

Module-3
5 a. What is a Deadlock? What are the fbur necessary conditions lbr the deadlock to occur?

(04 Marks)

b. What are the two methods to eliminate deadlock? (02 Marks)

,,'it,,,,., ,,,

Process Arrival I'ime Burst Time Prionty
P1 0: l0 J

P2 rr.1,,trllii.-. l;r I '11...1,.,,'1

P3 1' 2 4

P4
-,,itii;,,r8 I 5

, 5.1"' 2P5 /1-t

I of2

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing Ol{E full question from each module.

(08 Marks)
(06 Marks)
(06 Marks)

I a. With neat diagram, explain , 
*

i) Operating System iD Dual Mode Operation in O.S.

b. Explain the Operating System services with respect to programs and the users.

c. What is a Process? Explain different states of a process with state diagram.

OR
2 a. With neat diagram, explain the concept of Non virtual rnachine, Virtual machine and

VMware architecture . (10 Marks)

b. Define : i) Context switching ii) f)irect and Indirect communication
iii) Automatic and E,xplicit bufflering. (10 Marks)



2tcs44

Consider the following snapshot of a system :

9a.

10

be viewed in OS? (08 Marks)

MULl'ICS (08 Marks)
(06 Marks)

system calls in Linux I UNIX OS, also write a program
C language (06 Marks)

JJJ-JJ

i

Allocation Max : Available
D

Process

A B C D A B C D A B C

2 1P1 2 0 0 I 4 1 I 2 a
J J

zP2 1J I 2 1 5 ,5 2

P3 2 1 0 J 2 J 1 6

,l! ''."P4 1
1J I 2 '4 2 4

P5 1 4 lJ
.\
L -1 6 6 5

2 of'2

Answer the fbllowing using Banker's algorithm.
i) lsthe system is in salb state? If so, what is the safb sequence?

ii) lf reqr"rest tiom process P2 (0, 1, 1, 1) is considered immediately, what is the System
state and Sequence? (14 Marks)

OR
6 a. Which are the commonly used strategies to select a free hole Aom the available holes?

(06 Marks)
b. With suitable iliagram, explain external fragmentation. (04 Marks)
c. With neat diagram, explain paging hardware with'l't"B. (10 Marks)

7 a. what is Demand paging'/ Erpluinltffi in handling page fault using appropriate
diagram. (10 Marks)

b. Considerthepagerelbrencestring'.J,0,1,2,A,3,0,4,2,3,0,3,2,1,2,0, 1,7,0,1fora
memory with 3 fiames. Determine the number of page lbults using Optimal and LRU
replacement algorithrns. Which algorithm is most elficient? (10 Marks)

OR
8 a. With neat diagram, explain l-wo - level and Three - level directory structure.

b. irxplain Contiguous and Linked disk space allocation rnethods with diagram.
(08 Marks)
(12 Marks)
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Fourth Semester B.E./B.Tech. Degree
Biology for En

Time: 3 hrs.

Note: 1. Answer any FIW full questions,
2. M : Marks, L: Bloom's level, C:

218E45

June/July 2023

Max. Marks: 100

full question from module.

\ ol, ) ( 
!-r

L o o ,o

M L CModule
07 L2 colQ.1 L. What is a biomoiecule? Explain the classification of biomolccule.
07 L2 colb. Explain the role of DNA

COVID-I9.
vacciiie, ,,for

t,:, ,, .!:l

RNA vaccine forrabies and

06 L2 cotWrite a short note on cellulose based bio-filters.
lllti\r

c.
OR

07 L2 co1Q.2 L. Explain the DNA finger.pdnfine i, forensic applications.
07 L2 colb. Explain the role of lip ids and its application in cleaning agents.

06 L2 co1c. Write a shod note on biosensors and bioplastics.
Module - 2

07 L3 co1Explain brain as a CPU system. ,,,,:,,Q.3 a.

07 L3 co1Explain eye as a camera system.b.
06 L2 colWrite a short note on cardiac pacemaker.c.

a7 L3 co1Explain thc robotic arms for prosthetics.Q.4 a.
07 L3 co1b. Explain heart as a pump system.
06 L2 colc. Write a short note on engineering solutions for Parkinson 's disease.

Module - 3

c02Explain the lungs as a purification systcrn. 07 L3Q.s a.
c0207 L3b Explain the kidney as filtration system.

06 L2 co2c. Write a short note on spirometry and ventilator. , ",'i rl r,illi

07 L3 co2Explain muscular and skclctal systctn as scaffolds.Q.6 L,
07 L3 c02Explain bio-engineering solutions for muscular dystrgp[,' and osteoporosisb
06 L2 c02Write a shorl note on Chronic Obstructive (coPD)c.

odule - 4
c03Explaih the terms Echolocation Ultrasonography and Sonars. 07 L3Q.7 L.

07 L3 c03E&lain the process of Photosynthesis and Photovoltaic cellsb
06 L2 c03c. Wleaf, GPS, Bird"flight and ?lrqtt.

OR
L3 co307a. Burrs and Super hydrophobic andleaf eExplain the

self-c
Q.8

07 L3 c03b Spark skin and Swimsuits, Bullet train using biological
concepts.
Explain the

06 L2 c03c. - Based Oxygen Carriers (HBOC's) andWrite a short note on
Perfluorocarbons

Module - 5

L3 co407the DNA:Of$dnic and Biocomputing.Q.e a,
L3 co407the B and Artificial for Disease D S15.b.

06 L2 co4c. Write a short note on Self healing Bioconcrete
OR

07 L3 co4la of BioQ.10 a.
07 L3 co4b. via microbial surface
06 L2 co4c. 5 short note on Nanomedicines and Bioleaching.Write

&JJJ+

OR

OR

Explain and Bio-Mining
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INSTRUCTION

1. Answer all the fifty questions,

2. Use only Black baII point
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Purpose of value education is

a) Foster universal core values

6/Develop values in individuals
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a) Respect

The Human goal at
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Having knowledge
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a) Prosperity
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b) Fearlessness
d) Right understanding

b) Prosperity
d) Coexistence with nature
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Universe

a) More

,gYfrore socially and ecolo
b) More Powerful
d) More well-travelled

15.

16.

17.

22. The fourth order nature is

d) Five (5)

a) Material ) Bio order 
ersion - ? 3'#il 

order order

d) None

have made effort for excellence
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a) Existence + Growth

'.9)T"lurturei 
Worsen

The janateness.;
- a) -bxstence

c) Growth

b) Cruelty/non-cruelty
d) Will to live in self
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d) Human order

b) CrueltyNon-cruelty
d) Nurture/Worsen

21. Comprehensive
a)

at the level of individual
b) Fearlessness

d) Right understanding
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23. is the basic wtit gfihlman society.

rbftndividual c) Naturea) Group

27. Human to human
a) Work

d) Society

24. whiq,-.
a),Yelf

5r.u.
25. Whyts the nature of self?

alConscious
Yielocnemical

26. Self exploration is seeing beyond
a) Universe b) House

of the following is a positive value?
respect b)

d)N

c) Box

" 
- *u"q

'':ll:: t*8{llll''' u) Pt,

.{." _*lml

d;# ./"w -/
$Your

SS

1S

society by

c) System

ysical facilities

senses

d) None of these
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d) Care
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Wlpdn is the comp
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lete value?
b) Respect

d) None of these

b) Bio order
d) Human order

c) Trust

nature
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36. BodV is a unit while the self is a unit.

, yl Malerial. Consciousness b) Consclousness. Material
" c) Material, Material d) Consciousness, Consciousness
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37, Society is an extension of / 
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a) Human Being W-ffi
38. In value education Sanyam mans _

a) S;J{-exploration

.9)delf-regulation

39.

c) Nature d) Existence

b) Se
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competence in the ion is the only effective way to ensure
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46. Human goal -+ match correctly

45. Ensuring justice in
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b) Fearlessness

d) Right understanding

c)

c) Glory

co-existence of

b) Co-operation
d) Corporate identity

b) Guidance
d) Gratitude

b) Health and prosperity
d) Mind and Soul

is called

50. Each human being is
a) ffirit and Sanyam

5/Setiand Body
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